1987-88 IMPORT PARTS CATALOG
Figure 24-200

HEATER AND AIR
lilus. Page 24-6

CONDITIONING

CONTROLS, HEATER AND AIR CONDITIONING

7724 200 A 24 RWD - CONQUEST

Printed in U.S.A. FEBRUARY, 1989




e

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-200
CONDITIONING lllus. Page 24-7
ITEM ]PAF(T NUMBERl QTY l BODY MODEL I DESCRIPTION

CONTROLS, HEATER AND AIR CONDITIONING
24 RWD - CONQUEST

MB43 9613 1

MB56 8261 1 1988

MB27 6643 1 1988
4 PANEL, Control

5 MB38 0549 1 HARNESS, Joint
6 MF45 3016 4 SCREW, Tapping, (4x12mm)
CRE i

7 9 4 NUT, Spring

9 MF45 3030 2 SCREW, Tapping, (5x10mm)
10 MB38 0286 1 SERVO, Power Motor
11 MB37 9698 1 RESISTOR, Variable
12 MB27 6495 1 MOTOR, DC
13 MB43 8853 1 HARNESS, Joint
14 MB38 0287 1 VALVE, Vacuum
15 MB27 2982 1 SENSOR, Fan
16 MB30 5773 1 INSULATOR, Rubber
17 MF45 5379 2 SCREW, Tapping, (4x16mm)
18 MB43 8923 1 TRANSISTOR, Fan Control
19 MB43 8161 1 SWITCH, Pressure
20 MB43 8164 1 SWITCH, Pressure (Dual)
21 MS24 0021 2 BOLT, w/WASHER, (6x16mm)
22 MB37 9897 1 TANK, Vacuum

MDQQ 1852 1

MDO00 1865 2
25 MB38 0294 1 HOSE
26 MDOQ0 5473 1 BAND, Cable

, ULk
29 MB27 2705 1 SWITCH, Water Temp
30 MS47 0058 1 CLIP, (60mm)

MB43 5747 1 BRACKET, Relay
MB33 2453 1 RELAY, Power, Magnetic Clutch, Condensor Fan Motor

MS35 0165 2 ' (5x16mm)
MB16 7514 1 SENSOR, Photo
c

Black
MB45 2906 1 Red
38 MB37 9646 1 HARNESS, Joint (A)
MB27 2718 2 BULB (14v-1.4w]

40 MB56 8582 11 BULB, Lamp
ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4==4-Speed Manual
Blank=All K=1600 cc (w/0 Balance Shaft) F=2600 cc (Car} Blank=All M=All Manual 5=5.Speed Manual
W=2600 cc (Truck) 8=4 x 2 Manuali
SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) 27 RWD-4WD=Pickup (Ram 50, Power Ram 50)
L=] ow P =Premium 24 RWD=2-Dr Hatchback {Conguest) 27 4WD=_Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)
M=Medium S=Special 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD=Station Wagon (Vista)

AR=Use as Required # =New Part Number —~ =Non Hlustrated Part Printed in U.S.A. FEBRUARY, 1989



1987-88 IMPORT PARTS CATALOG

Figure 24-600 . HEATER AND AR
llius. Page 24-14 CONDITIONING

HEATER UNIT AND HEATER PLUMBING

7724 800 A 24 RWD - CONQUEST

1
)

SBHT ke
'

Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-600
CONDITIONING tHus. Page 24-15
ITEM PART NUMBERI QTy | BODY J MODEL [ DESCRIPTION

HEATER UNIT AND HEATER PLUMBING
24 RWD - CONQUEST

3 VALVE, Water
MB16 7716 1 w/o A/C
6

4 MB12 3436 1 CLAMP

5 MBO08 1099 1 HOSE

6 MB16 7715 1 CORE, Heater

7 MB12 3891 1 DUCT, (w/o A/C)

8 MS47 0027 1 CLIP, (40mm)

9 MS24 0045 3 BOLT, w/WASHER, (8x20mm)
10 NUT and WASHER (8mm)

11 MB29 8412 1 BOLT, w/WASHER

12 MB43 8199 1 BLOWER

MB18 8933
MB43 8202
14 MB18 8931
MB56 8983
MB16 7460
17 MAG60 9047
18 MB16 7463

1988
FAN, Heater Contro}
MOTOR, Blower
HOSE, Water (A) 1987
CLAMP, Hose
HOSE, Water (B) 1987

MB38 0248
MB56 8613 1

BRACKET, Heater, w/Auto A/C

23 MB16 7719 1
24 MB18 8851 1 DIAPHRAGM, Vacuum, w/Auto A/C
1
26 MB38 0672 1 HOSE, Vacuum, w/Auto A/C
27 MB43 8200 1 BLOWER, w/Auto A/C
28 MB16 7838 1 BRACKET, w/Auto A/C
2 NUT, Spring, w/Auto A/C
1 COVER, w/Auto A/C
31 MF45 3091 2 SCREW, Tapping, (5x12mm), w/Auto A/C
32 MB52 7569 1 HOSE PACHAGE, Heater 1988

ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manual

Blank=All K=21600 cc (w/o Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5=5-Speed Manuat
W=2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Coit) 27 RWD-4WD=Pickup (Ram 50, Power Ram 50)

L=low P =Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)

M=Medium S=_S8pecial 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD = Station Wagon (Vista)

AR=Use as Required # =New Part Number —=Non lilustrated Part . Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

Figure 24-1000 HEATER AND AIR
llius. Page 24-22 CONDITIONING

CONTROLS, HEATER AND AIR CONDITINER
24 RWD - CONQUEST

7724 1000

Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-1000
CONDITIONING llius. Page 24-23
ITEM PART NUMBERJ Qry I BODY MODEL DESCRIPTION

CONTROLS, HEATER AND AIR CONDITINER
24 RWD - CONQUEST

1 MS35 0133 4 SCREW, w/WASHER, (5x12mm)
2 MB18 8502 4 KNOB, Heater Control
3 MB38 0296 1 CONTROL
4 MB18 8794 1 WIRE, Control (F-R)
.5 MB38 0427 1 SWITCH, w/ LCD Meter 1987
6 MB18 8779 1 WIRE, Control (Temp)
7 MF35 0730 2 SCREW, w/WASHER, (3x25mm), w/ LCD Meter 1987
8 MB18 8780 1 WIRE, Control (Mode)
9 . .

LAMP, Optical Fiber

1 18 8887 BULB, Lamp (L-Green)
11 MB27 2390 2 SCREW, w/ LCD Meter 1987
12 MB37 9936 1 . SWITCH, Heater

MB43 9613 1
MB&56 8261 1

MB27 6643 1 1988
16 PANEL, Control

17 MB33 2780 1 BEZEL, Heater Control

18 SCREW, Tapping, (4x12mm)
MF45 3017 1988

19 MB37 9659 4 NUT, Spring

20 MF45 3031 2 SCREW, Tapping, (5x12mm)

ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manual

Blank=All K=1600 cc (w/o0 Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5=5-Speed Manual
W=2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) 27 RWD-4WD=Pickup (Ram 50, Power Ram 50)

L=Low P =Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=_Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)

M=Medium S=_Special 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD =Station Wagon (Vista)

AR=Use as Required # =New Part Number — =Non lliustrated Part Printed in U.S.A. FEBRUARY, 1989




Figure 24-1800
lllus. Page 24-38

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR
CONDITIONING

1724 1800

AIR CONDITIONER UNIT
24 RWD - CONQUEST

Printed in U.S.A.

FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-1800
CONDITIONING llus. Page 24-39

mem  |parT numeer| arv | Bopy | wmope. |  bescrieTion

AIR CONDITIONER UNIT
24 RWD - CONQUEST

MBA43 9612 1
MB56 8614

MB23 9131 1
MB38 0030 1

GROMMET, Drain, up to 1-87
MB38 0030 after 1-87

7 MB23 9130 1 HOSE, Drain

MS66 0166

MB27 2982
MB27 6657
MB27 6483

N s = -

11 MB27 6287 PIPE, Vacuum
12 MF24 3651 BOLT, w/WASHER, (8x20mm)
13 HARNESS, Air Conditioner
MB27 6524 1
MB27 6760 1 1988
14 MB27 6214 1 O-RING
15 MB27 6213 1 O-RING

mB27
17 MB27 6051 1
MB27 6654 1 1988

18 MB27 6281 1 VALVE, Expansion, 1987

20 MB27 6482 1 CONTROLLER, Light, 1987
MB27 6609 1 1988

23 MB27 6481 1 HOSE, Vacuum
24 MF35 0772 2 SCREW, w/WASHER, (5x20mm)

ENGINE: Q=1500 cc A==2000 cc TRANS: A= Automatic 4=4-Speed Manual

Blank=All K=1600 cc (w/0 Balance Shaft) F=2600 cc (Car) Blank=Al M==All Manual 5==5.Speed Manual
W=2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) 27 RWD-4WD=Pickup (Ram 50, Power Ram 50)

L=Low P =Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=_Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)

M=Medium S=_Special 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD = Station Wagon (Vista)

AR=Use as Required # =New Part Number —=Non lllustrated Part Printed in U.S.A. FEBRUARY, 1989




Figure 24-2300
llius. Page 24-50

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR
CONDITIONING

1724 2300 A

CONDENSER, AIR CONDITIONER
24 RWD - CONQUEST
1987

Printed in U.S.A.

FEBRUARY, 1989




—

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-2300
CONDITIONING . lllus. Page 24-51
ITEM PART NUMBER] QTY | BODY MODEL DESCRIPTION

CONDENSER, AIR CONDITIONER
24 RWD - CONQUEST
1987

1 PIPE, Liquid (A)
MB43 8089 1 w/o inter-Cooler
MB43 8088 1 w/ Inter-Cooler
2 MB27 6213 4 O-RING
3 MS24 0021 4
4 MF47 7028 1 , (20mm)
5 MF24 0023 1 BOLT, w/WASHER, (6x12mm)
6 MB19 9504 1 BRACKET

7
MB27 6215 3 O-RING
10 MB19 9503 1 HOSE, Suction Flexible

13 3837 730 2 REFRIGERANT
14 MS66 0183 1 PLUG, (20mm)

17 MB19 9833 7 BOLT
18 MB33 2820 1 CONDENSER

HOSE, Discharge Flexible

21 MB38 0293 PIPE, Suction
22 MB18 8673 CLIP
846 CLAMP

24 MB19 9664 RECEIVER
25 MB27 2700 PIPE, Liquid (B)
26 MB37 9772 FAN MOTOR and SHROUD, w/o Intercooler, Auto.

MB43 8141 FAN. MOTOR and SHROUD, w/Intercooler, 5 Speed

MB33 2177 FAN MOTOR and SHROUD, w/o Intercooler, 5 Speed
27 MB33 2180 TUBE, Spiral
28 MS24 0021 BOLT, w/Washer, (6x16mm)
29 MB19 9833 BOLT

MB19 9833 BOLT, w/Intercooler
30 MB27 6508 FAN and MOTOR, w/o Intercooler
MB27 6525 FAN and MOTOR, w/Intercooler

MB43 8213

MB27 6526
MB27 6509

SH , w/lIntercooler, pee
SHROUD, w/o Intercooler, Auto.

- b ek bk oad SJEPD 2 e i o afa N =

ENGINE: Q==1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manual

Blank=All K=1600 cc (w/o Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5=-5-Speed Manual
W=2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) 27 RWD-4WD=Pickup (Ram 50, Power Ram 50}

L=Low P ==Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)

M=Medium S=_S8pecial 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD =Station Wagon (Vista)

AR=Use as Required # =New Part Number — =Non Hlustrated Part Printed in U.S.A. FEBRUARY, 1989

i
%
,
1




Figure 24-2350
lHlus. Page 24-52

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR
CONDITIONING

1724 2350 A

CONDENSER, AIR CONDITIONER
24 RWD - CONQUEST
1988

Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-2350
CONDITIONING llus. Page 24-53
ITEM [PART NUMBERL QTY I BODY l MODEL DESCRIPTION

CONDENSER, AIR CONDITIONER
24 RWD - CONQUEST
1988

F47 7028 1 CLIP
3 MF24 0023 1 BOLT and WASHER (6x12)
4 MB19 9504 1 BRACKET
5 MF47 7026 1 CLIP
6 MB27 2716 1 BRACKET
7 MB19 9664 1 RECEIVER
8 MB43 8088 1 PIPE, Liquid (A) up to 11-87
MB60 9028 1 after 11-87
9 MB27 6213 4 O-RING
MB23 9542 1
10 MB43 8141 1 FAN, MOTOR and SHROUD
11 MB27 6526 1 SHROUD
12 MB27 2700 1 PIPE, Liquid (B)
13 MB38 0293 1 PIPE, Suction
14 MB27 6215 3 O-RING
16 MB27 6525 1 an
17 MB23 9804 1 HOSE, Discharge Fiexible
18 MB27 6214 2 O-RING

MB27 2717 1 BRACKET
CONDENSER

23 MF24 7253 AR BOLT
23A MF24 1251 AR BOLT

MB12 3623 1 PLUG, Rubber (9)
MB27 2166 1 PLUG
G
CLAMP
PIPE, Discharge (B) Automatic
PIPE, Discharge (A) Automatic
BRACKET, Clamp Automatic

29 MB56 8257
31 MB56 8256
32 MB56 8260

33 MBO3 0434 CLAMP, Automatic
34 MB56 8258 CLAMP, Automatic
35 MS24 0081 BOLT and WASHER (6x16) Automatic

36 MF35 0790 SCREW and WASHER (6x12) Automatic

37 MB56 8253 CONDENSER, Side Automatic
38 MB56 8254 BRACKET, Automatic
39 MB43 8164 SWITCH, Sensor (Dual)

O Gy A G G UG - QI Gy

40 MB43 8161 SWITCH, Pressure Sensor

ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manual

Blank=All K=1600 cc (w/o0 Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5=-5-Speed Manual
W=2600 cc {Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) 27 RWD-4WD==Pickup (Ram 50, Power Ram 50)

L=Low P==Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=_Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)

M=Medium S=_Special 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD = Station Wagon (Vista)

AR=Use as Required # =New Part Number - =Non lllustrated Part ) Printed in U.S.A. FEBRUARY, 1989




Figure 24-3000
lilus. Page 24-68

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR
CONDITIONING

1724 3000 A

COMPRESSOR, AIR CONDITIONER
24 RWD - CONQUEST

24 26 28

L%L

313530

L5

35 323532

wld )
SRR

¥
48

49

50

Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HMEATER AND AIR Figure 24-?000
CONDITIONING illus, Page 24-68

ITEM PART NUMBERT QTy l BODY | MODEL ‘ DESCRIPTION

COMPRESSOR, AIR CONDITIONER
24 RWD - CONQUEST

2 MB23 9728 1 PULLEY, Tension, up to 8-87
MB60 9139 1 after 8-87

OLT, A

SHAFT
5 MF24 4851 3 BOLT, w/WASHER, (8x20mm)
6 MB27 2704 1 BRACKET, Tension Pulley

BOLT, w/WASHER, (10x30mm})

MF24 4881 2 1987
MF24 4882 2 1988
9 MB19 9581 1 BRACKET, Compressor
10 MF24 4884 2 BOLT, w/WASHER, (10x35mm)
1 MF24 4888 3 BOLT, w/WASHER, (1 0x50mmy)
12 MB19 9599 1 BELT, Compressor Drive
13 MF24 0063 1 BOLT, w/WASHER, (8x50mm)
14 MBO05 4770 1 SPACER
15 MB16 7960 1 BRACKET
16 1 WASHER, Plain, (8mm), Not Serviced
6
18 MB16 7961 1 BOLT, Adjusting .
19 6 BOLT, (8x10mm), Not Serviced
20 1 PULLEY, Crankshaft Compressor, Not Serviced

23 MB23 9626 1 WASHER, Spring
24 MB23 9624 1 WASHER, Plate, T=0.5

27 MB23 9621 1 RING, Snap
28 MB23 9620 1 RING, Snap

MB27 6507 2 CAP, Valve
MB23 9600 4 O-RING

CAP, Suction Side
CAP, Discharge Side
PLATE, Valve Front Side
REED, Suction Valve
BEARING, Thrust
KEY, (L=20mm)
SHAFT, Main
PLATE, Valve Rear Side
BALL, Piston
SHOE SET
SHOE SET
PISTON

MB27 6078
MB23 9609
1
MB23 9601
MB23 9603
MB23 9602
MB23 9610
MB23 9605
MB23 9984
MB23 9984
MB23 9606

- DHW O - it b —a N

46 MB23 9608 BOLT

47 MB23 9607 SEAL, Shaft
ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manual
Blank=Ali K=1600 cc (w/o0 Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5==5-Speed Manual

W=2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) - - 27 RWD-4WD=Pickup (Ram 50, Power Ram 50) ,
L=Low P =Premium 24 RWD=2-Dr Hatchback (Conquest) - 27 4WD==Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)
M=Medium S=_Special 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD = Station Wagon (Vista)

AR=Use as Required # =New Part Number —=Non lllustrated Part Printed in U.S.A. FEBRUARY, 1989




Figure 24-3000
lilus. Page 24-70

1987-88 IMPORT PARTS CATALOG

HEATER AND AIR
CONDITIONING

ITEM

IPaRT numser] arv |

BODY l MODEL I DESCRIPTION

48
49
50
51

MB27 6506
MB27 6079
MB43 8814

- b b

i

COMPRESSOR, AIR CONDITIONER
24 RWD - CONQUEST

VALVE SET, Discharge
OVERHAUL PACKAGE
CAP, Dust

ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manuai

Blank=All K=:1600 cc (w/o Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5=5-Speed Manual
W=2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (_Gof_f)‘i; 27 RWD-4WD=Pickup (Ram 50, Power Ram 50)

L=Low P=Premium 24 RWD=2-Dr Hatchback {CoRduest) 27 4WD=Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)

M=Medium S=_Special 41 FWD=4-Dr Sedan (Colit & Eagle Vista) 45 FWD-4WD=Station Wagon (Vista)

AR=Use as Required

# =New Part Number

Printed in U.S.A. FEBRUARY, 1989

— =Non lilustrated Part




1987-88 IMPORT PARTS CATALOG

Figure 24-3800 HEATER AND AIR
ius. Page 24-92 CONDITIONING

AIR DUCTS AND OUTLETS
24 RWD - CONQUEST

7724 3800
ol 3

25
i
S
& =

10 16 15

Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-3800
CONDITIONING Hlius. Page 24-93
ITEM JERT NUMBER} QTY [ BODY L MODEL DESCRIPTION

AIR DUCTS AND QUTLETS
24 RWD - CONQUEST

GRILLE, Side Defroster Upper

MB18 4972 1 Black, Left Side
MB44 1563 1 D-Red, Left Side
MB18 4973 1 Black, Right Side
MB44 1566 1 D-Red, Right Side
3 NOZZLE, Side Defroster Upper
MB18 4974 1 Left Side
MB18 4975 1 Right Side
4 MB19 9778 1 DUCT, Side Defroster, Left Side
5 GRILLE, Side Defroster, Lower
MB18 4988 1 Black, Left Side
MB44 1557 i D-Red, Left Side
MB18 4989 1 Black, Right Side
MB44 1560 1 D-Red, Right Side
6 MB19 9777 1 DUCT, Side Defroster, Right Side
7 MB18 4967
8 MB38 0990 1 , Air (B)
9 MB18 4981 1 DUCT, Center Air
10 MB38 (0984 1 DUCT, Air (A)

B1

) ir,
13 MB18 4961 1 OUTLET, Center Air

14 SCREW, Tapping, (4x12mm)
M 3016 11
MF45 3017 11
15 MB18 4965 1 OUTLET, Side Air, Right Side
16 MB18 4969 1 DUCT, Deflector, Right Side

MB18 8581 1 Left Side
MB18 8583 i Right Side

Left Side
MB18 8575 1 Right Side
20 DUCT, Defroster
MB18 8578 1 Left Sid
MB18 8577 1 Right Side
21 MB11 4212 1 CLIP
22 MB18 8589 1 DUCT, Center Vent

23 DUCT, Side Vent

MB18 8584 Left Side
MB18 8585 Right Side
24 MS24 0141 BOLT, w/WASHER, (6x16mm)

25 MB43 9328 DUCT, Lap Heater, Left Side

26 MA14 7258 NUT, Spring, (6mm)
27 MB18 8787 DUCT, Lap Heater Center
28 MS44 0152 NUT, Spring, (5-16mm)

MB19 9677

30 MF45 3031 4 , Tapping, (5x12mm)

31 MB43 9362 1 DUCT, Lap Heater Right Side
ENGINE: Q=1500 cc A=2000 cc TRANS: A=Automatic 4=4-Speed Manual
Blank=All K=1600 cc (w/o Balance Shaft) F=2600 cc (Car) Blank=All M=All Manual 5=5-Speed Manual

W =2600 cc (Truck) 8=4 x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Coit) 27 RWD-4WD=Pickup {Ram 50, Power Ram 50)
L=Low P =Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Colt)
M=Medium S=S5pecial 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD = Station Wagon (Vista)

AR=:Use as Required # =New Part Number - =Non {liustrated Part Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

Figure 24-4300 HEATER AND AIR
Mus. Page 24-106 CONDITIONING

REAR DUCT, GARNISH, AIR OUTLET
24 RWD-CONQUEST

1724 4300

1 2 3 4 5

&
eI, @
‘ZZ@ %
| 7 6

12 1n 10 9 5 8

Printed in U.S.A. FEBRUARY, 1989




1987-88 IMPORT PARTS CATALOG

HEATER AND AIR Figure 24-4300
CONDITIONING filus. Page 24-107
ITEM IPAF!T NUMBER‘ QTY | BODY I MODEL I DESCRIPTION

REAR DUCT, GARNISH, AIR OUTLET
24 RWD-CONQUEST

1 MS44 0502 2 NUT, w/WASHER (6mm)
2 MBO08 2525 2 PLATE, Rubber

3 MB34 6260 8 SPACER

4 MB17 4205 8 CLiP

5 MS35 012 8

6

MB36 1459 1
MB36 1460 1

MB36 1448 1 Left, Light Blue
MB45 3276 1 White

MB36 1444 1 Black
MB70 7797 1 Red, w/o Intercooler

1988
MB71 7757 1 Medium Blue
Whit

MB36 1444
MB49 3652
MB71 7753

MB71 7758 Maroon
1987
MB36 1455 1 Right, Biue
MB45 3279 1 White
MB70 7797 1 Beige
MB45 4241 1 Silver
MB36 1451 1 Black
MB49 3654 1 Gold
MB49 3656 1 Red, w/intercooler
MB70 7797 1 Red, w/o intercooler

1988
MB71 7763

MB71 7760 ite
MB71 7762 Silver
MB36 1451 Black

MB71 7764 1 Maroon
8 MB34 6258 6 BRACKET, Fin

MB22 4142 1 Right
10 MF45 3033 4 SCREW, Tapping (5x16mm)

ENGINE: Q=1500 cc A=2000 cc TRANS: A= Automatic 4=4-Speed Manual

Blank=All K=:=1600 cc (w/0 Balance Shaft) F=2600 cc (Car) Blank=All M =All Manual 5=5-Speed Manual
W=2600 cc (Truck) © 8=4x 2 Manual

SERIES: H=High MODELS: 24 FWD=2-Dr Hatchback (Colt) 27 RWD-4WD=Pickup (Ram 50, Power Ram 50)

L=Low P ==Premium 24 RWD=2-Dr Hatchback (Conquest) 27 4WD=Sport Utility (Raider) 45 FWD=4-Dr Station Wagon (Coit)

M=Medium S=_Special 41 FWD=4-Dr Sedan (Colt & Eagle Vista) 45 FWD-4WD = Station Wagon (Vista)

AR=Use as Required # =New Part Number —=Non filustrated Part Printed in U.S.A. FEBRUARY, 1989
i




